EB-2021-0041	: 1	<u>: Don Richardson</u>

	<u>-</u>	
COST CLAIM NUMBER 305	SUBMISSION DEADLINE DATE March 10, 2022	CLAIM STATUS Submitted
EB# EB-2021-0041: Rates: Distribution: London Hydro Inc.	OTHER EB#S	PHASE #* 1
INTERVENOR Richardson, Don; +1 (226) 820-5086 don@ibabraiding.com	INTERVENOR COMPANY* Chippewas of Kettle and Stony Point First Nation, Kettle and Stony Point First Nation: Institution	INTERVENOR TYPE Tax Exempt
HST RATE ONTARIO 0.00	EXCHANGE RATE	COUNTRY Canada
HST NUMBER	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

New	Non-Filing Participant First, Last Name	Filing Participant	Participant Total (\$) Claim Status
No	,	Richardson, Don; +1 (226) 820-5086	5,610.00 Submitted
		don@ibabraiding.com	

TOTAL LEGAL/CONSULTANT/OTHER FEES	
5,610.00	

TOTAL CLAIM 5,610.00

REASON FOR DISALLOWANCE REASON FOR DISALLOWANCE - 2

TOTAL DISBURSEMENTS

TOTAL AMOUNT AWARDED

0.00

MAKE CHEQUE PAYABLE TO Southwind Development Corporation Inc.

SEND PAYMENT TO ADDRESS Philip Lee c/o Southwind Development Corporation 9119 West Ipperwash Road Unit A, Kettle & Stony Point F.N., ON N0N 1J1

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Don Richardson DATE SUBMITTED March 09, 2022

ATTENTION

REASON FOR

DISALLOWANCE - 3

TOTAL HST

0.00

Don Richardson PARTICIPANT INTERVENOR NAME CASE COST CLAIM **CLAIM STATUS** EB-2021-0041 : 1 : Don EB-2021-0041: Rates: Richardson, Don; +1 (226) Submitted Distribution: London Hydro Inc. Richardson 820-5086 don@ibabraiding.com NEW NON-FILING NON-FILING FILING PARTICIPANT PARTICIPANT PARTICIPANT F. NAME PARTICIPANT L. NAME Richardson, Don; +1 (226) 820-5086 No don@ibabraiding.com SERVICE PROVIDER TYPE YEAR CALLED TO BAR COMPLETED YEARS HOURLY RATE Consultant PRACTICING/YEARS OF 330 **RELEVANT EXPERIENCE** 30 **CV STATUS (FOR** HST RATE CONSULTANT/ANALYST) LAST CV DATE CHARGED CV Attached March 09, 2022 0.00 HEARINGS CONSULTATIONS DISBURSEMENTS Yes Yes No **HEARINGS**

March 09, 2022

Name	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence						
Review Application and Evidence		330		0.00		
Discovery						
Preparation of Interrogatories	3.50	330	1,155.00	0.00		1,155.00
Review Interrogatory Responses	3.00	330	990.00	0.00		990.00
Technical Conference Preparation		330		0.00		
Technical Conference Attendance		330		0.00		
Technical Conference Follow Up		330		0.00		
Issues List						
Preparation		330		0.00		
Attendance at Issues Conference		330		0.00		
Intervenor Evidence						
Preparation		330		0.00		
Interrogatory Responses	2.50	330	825.00	0.00		825.00
Preparation of Witness(es) for Attendance		330		0.00		
at Hearing						
Settlement Conference / ADR						
Preparation	1.00	330	330.00	0.00		330.00
Attendance	5.50	330	1,815.00	0.00		1,815.00
Preparation of Settlement Proposal	1.50	330	495.00	0.00		495.00
Attendance at Presentation to Panel		330		0.00		
Oral Hearing						
Preparation		330		0.00		
Attendance at Oral Hearing		330		0.00		
Submissions						
Written Submissions		330		0.00		
Oral Submissions		330		0.00		
Attendance at Oral Submissions		330		0.00		
Other Attendance						
Other Attendance		330		0.00		
Communication		000		0.00		
With Client		330		0.00		
With Other Parties		330		0.00		
Motions		220		0.00		
Preparation of Motion(s) Materials		330 330		0.00 0.00		
Prepare Submissions on the Motion(s)						
Attendance at Hearing on Motion(s)		330		0.00		
Confidentiality						

Preparation of Application for	330	0.00		
Confidentiality				
Prepare Submissions on Confidentiality	330	0.00		
Attendance at Hearing on Confidentiality	330	0.00		
Decision				
Review	330	0.00		
Rate Order				
Review	330	0.00		
Prepare Submission on Rate Order	330	0.00		
Total Service Provider Fees				
Total Service Provider Fees:	5,610.00		0.00	5,610.00

Attachments

Attachment	Document Type	Import Message
DonRichardson_OEB_CV.pdf	CV	
EB-2021-0041Invoice	Invoice	
0000039_DonRichardson_LondonHydroProc eeding.pdf		
TimeDocket-EB2021-0041.xlsx	Time Docket	

DISBURSEMENTS									
	<u>Atchmnt</u>	Atchmnt	Qty	<u>Cost/</u>	Net	<u>HST</u>	<u>Other</u>		Rationale/
<u>Name</u>	Required	Provided		<u>Unit</u>	<u>Cost</u>	Rate	<u>HST</u> <u>Taxes/Tip</u>	<u>Total</u>	Comment

Hearings, Consultations, Disbursements Attachments

nearings, consum				
		Document		
Attachment	Related Disbursement Claim	Туре	Claim Type	Import Message
DonRichardson_OE		CV	Hearings	
B_CV.pdf				
EB-2021-0041Invoic		Invoice	Hearings	
е				
0000039_DonRichar				
dson_LondonHydro				
Proceeding.pdf				
TimeDocket-EB2021		Time Docke	Hearings	
-0041.xlsx				

Don Richardson, Ph.D.

C.V. – Ontario Energy Board Experience

2022

Dr. Richardson has over 30 years of experience as a skilled facilitator supporting project implementation, impact assessments and building agreements between energy, infrastructure and resource management project proponents, community/non-governmental organizations, government agencies, and rural/Indigenous communities. He fosters constructive engagement to create shared value between communities and infrastructure proponents.

Dr. Richardson has appeared as a witness several times in various regulatory proceedings and has presented before the Ontario Energy Board on a number of occasions. As a consultant to Anwaatin Inc., he is an experienced intervenor before the Board, representing the interest of Indigenous communities, Dr. Richardson has a high level of familiarity with the Ontario Energy Board's practice directions, rules of practice and procedure, filing requirements and related administrative guidance.

On behalf of Anwaatin Inc., and other parties Dr. Richardson has been active in representing various Indigenous interests before the Ontario Energy Board in a number of electricity and natural gas proceedings and consultations. Dr. Richardson has assisted Anwaatin and its First Nation clients in being a pioneer of distributed energy resource (DERs) initiatives before the Board and helped to achieve the first landed grid energy storage projects to improve poor electricity reliability in vulnerable Indigenous communities (see EB-2017-0355, Decision and Order, August 23, 2018 and EB-2017-0049, Decision and Order, March 7, 2019).

Dr. Richardson was recently appointed as the represent of Anwaatin in the Ontario Energy Board's Framework for Energy Innovation: Distributed Resources and Utility Incentives consultation (Board File No.: EB-2021-0118). He is or was an active participant in, among others, the following Board proceedings: EB-2021-0002; EB-2021-0004; EB-2020-0194; EB-2020-0212; and EB-2020-0106. Dr. Richardson was also recently appointed to the Ontario Energy Board's Adjudicative Modernization Committee which considers best practices and approaches to adjudication that enhance the OEB's efficiency and effectiveness in delivering on its mandate to regulate Ontario's energy sector as required under provincial legislation. Dr. Richardson is also a member of the Independent Electricity System Operator's Transmission-Distribution System Working Group (TWDG).

Dr. Richardson has experience with several large scale and small scale energy infrastructure development projects, and energy regulatory and policy matters, working on behalf of First Nation governments across Ontario. He has extensive experience navigating the deployment, use, and integration of DERs as well alleviating energy poverty in and around Indigenous communities. He is also a recipient of the Canadian Urban Institute's Brownie Award recognizing outstanding achievement in building and maintaining effective working partnerships with professionals, the local community and others involved in Brownfields redevelopment, and a Consulting Engineers of Ontario, Canada Award for Indigenous Traditional Knowledge achievements.



IBA Braiding Ltd. 226-706-9779

4606 Concession Road 11 Puslinch, Ontario N0B 2J0 Canada

Billed To Philip Lee Southwind Corporate Development Inc. 9119 West Ipperwash Road Unit A Kettle & Stony Point First Nation, Ontario NON 1J1 Canada Date of Issue 03/09/2022

Due Date

04/08/2022

Invoice Number 0000039



Description	Rate	Qty	Line Total
Time (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Sep 10, 2021 Review Application & Evidence, prepare IRs	\$330.00	3	\$990.00
Settlement Hearing (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Oct 6, 2021 Prepare and transmit Intervenor Request to OEB	\$330.00	1	\$330.00
Time (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Nov 1, 2021 IRs	\$330.00	2.5	\$825.00
Time (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Nov 23, 2021 Review IR Responses	\$330.00	3	\$990.00
Settlement Hearing (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Nov 26, 2021 Pre-Settlement Conference Clarification Questions	\$330.00	1	\$330.00
Settlement Hearing	\$330.00	3.5	\$1,155.00

(EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald
Richardson – Nov 29, 2021
Settlement Hearing

Settlement Hearing (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Nov 30, 2021 Settlement Hearing	\$330.00	1	\$330.00
Settlement Hearing (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Dec 1, 2021 Settlement Hearing	\$330.00	1	\$330.00
Settlement Hearing (EB-2021-0041 – London Hydro Inc. – 2022 Rate Application) Donald Richardson – Dec 2, 2021 Settlement Hearing	\$330.00	1	\$330.00

5,610.00	Subtotal
0.00	Tax
5,610.00	Total
0.00	Amount Paid
\$5,610.00	Amount Due (CAD)

Terms

Thank you for contracting our services!

Payment can be made by cheque -or- by direct Bank Transfer: Bank: 003 Transit: 00819 Account: 1009463 RBC 5 Clair Rd E, Guelph, ON N1L 0J7 -or- by e-transfer to don@ibabraiding.com